
REV. 1
8/10/2015VIEWING CENTER

MC9002



4
3/8" x 5" Hex Head Bolt

D

4
1/4" Flat Washer

G

E

2
Surface Mount Bases

C

4
1/4" x 1.5" Lag Screw

F1
Viewing Center

A

2
Posts

B

REQUIRED TOOLS
(NOT INCLUDED)
1 - 7/16" SOCKET
1 - 9/16" SOCKET

OTHER REQUIRED MATERIALS
FOR INGROUND MOUNTING

(NOT INCLUDED)
2 - 80lb BAG OF SAKCRETE

1 - POST HOLE DIGGER
- GUIDE WIRES

- A FRIEND TO HELP

4
3/8" Flat Washer

HARDWARE

VIEWING CENTER
MC9002

COMPONENTS &
TOOLS REQUIRED 
FOR ASSEMBLY 1/4 



DETAIL U
SCALE 2 : 11

D

E
B

A

DETAIL W
SCALE 2 : 11

C

F
G

STEP #1
Lay Message Center (C) on the GroundA.
Put end posts (D) on the side of Message Center (C) B.
with holes lining up
Take 6-1/2" Bolt (A) put thru washer (B) thru Message C.
Center (C) thru washer (B) and onto nut (F) lossely
Repeat Step C for other 3 boltsD.
Tighten all boltsE.

STEP #2 (SURFACE MOUNT)
Keep the Message Center with the posts A.
attached on the ground
Put the Surface Mount Bases (I) onto the B.
post bottoms (D)
Fasten the 1-1/2" Lag Screw (J) thru the C.
washer (H)thru surface mount base (I) 
and screw into post (D)
Repeat Step C for other 3 Lag Screws (J)D.
Lift properly into standing positionE.
Secure Surface mount bases to groundF.

VIEWING CENTER
MC9002

ATTACH POSTS
TO VIEWING 
CENTER 2/4 



Score along thick line
with a razor blade

Use knife point
to start peeling
in a corner

Frame edge

Glass covering

REMOVE GLASS COVERING
Take a razor blade and score as close as possibe to the frame, •
cutting the covering
In a corner, peel back the the covering using the point of the •
knife blade
Pull the covering off the glass•
Repeat for the other side•

REMOVE GLASS
COVERING



 38.125 

 42.625 

 26.625 

 23.438 

 35.630 
 27.554 

 70.00° 

 23.007  10.000 

 31.113 

SPECIFICATIONS


	COVER
	Drawing View82

	PG 1
	Drawing View27
	Drawing View31
	Drawing View32
	Drawing View66
	Drawing View73
	Drawing View80
	Drawing View81

	PG 2
	Drawing View76
	Detail View U (2 : 11)
	Detail View W (2 : 11)

	COVER(2)
	Drawing View74
	Drawing View75

	SPECS
	Drawing View85
	Drawing View86
	Drawing View87
	Drawing View88


